S CW >:< 2 Series

Bt ST R~

B SN R ~T
@ WEIFEREMF (Y)
CE
¢ CK H9 gg ER LE
=
(@]
(X -1 |
1 ‘ _ |
O W o !
L ‘ Lt AN
KK
E: wHEE. TR FOHE
S | ce [ ok [ow | c [ ER | Kk [ Le]  mS |
¢ 32 40 10 10 19 | 11.5|M10X1.25| 20 | SCWP2-Y-32
¢ 40 48 12 12 | 24 13 |M12X1.25| 24 | SCWP2-Y-40
¢ 50,63 64 16 16 | 32 18 | M16X1.5 | 32 | SCWP2-Y-50
$80,100 | 80 | 20 | 20 | 40 | 24 | M20%X1.5 | 41 | SCWP2-Y-80
@ =EIREREH ()
LE CE
¢$CN N AX
~
N &
| | ST ®
; b o
RER

i [ ax | el on | o |

Z

|

Z
[z | w5 |

¢ 32 20 43 10 19 14 14 |M10X1.25| 15 13 | SCWP2-1-32
® 40 22 50 12 22 16 16 |[M12X1.25| 17 13 | SCWP2-|-40
$50,63 28 64 16 27 21 21 M16X1.5 | 22 15 | SCWP2-1-50
$80,100 | 33 77 20 34 25 25 | M20X1.5 | 26 15 | SCWP2-1-80
@ HiH
3
« L
w
hsY
D Pery
@ ©
i mERE, FOH

WEIRHMEA (CBA) WEIRHEA (YR)

Cae el L | ms Sae e | L] ms
®32 10 62 SCWP2-P1-32 ®32 10 36 | SCWP2-P2-32
®»40 12 70 SCWP2-P1-40 ®»40 12 42 | SCWP2-P2-40
¢ 50 16 78 | SCWP2-P1-50 $50,63 20 54 | SCWP2-P2-50
®»63 16 92 | SCWP2-P1-63 $ 80,100 | 20 62 | SCWP2-P2-80
®80 20 | 112 | SCWP2-P1-80
$ 100 20 | 132 | SCWP2-P1-100

i£: SCWP2, SCWT2#H,

KK

CKD

10



